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googoono (14)DDDDDDDDDDDDDDDDDDDDDD Ly=Lr+Ly0000
gooopooono
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oooooooooD Ly, Ly O OO0 0oooOooobooooooooooooooooooa
goooooopooooboobooooogg
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Oddddoooooooodooooooouooooo. oo ooboobooooooa
gbodooubooooobooodoodooooooao
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oo ooouoon
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Sy{A+ B = exp[%A] exp|B] exp[%A] (29)
oo
exp[A + B] = Sa[s(A + B)]Sa[(1 — 25)(A + B)]Sa[s(A + B)] + O((A + B)Y)  (30)
Oo00oo0oooooooooooon
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real dt,tf,p,q,e0,ene

integer i,n

dt=0.1
t£=10.0
p=0.0

n=int (tf/dt)

do i=1,n
gqn=q+dt*p
pn=-dt*q+(1l.-dt*dt)*p
Q=qn
p=pn
ene=(q*q+p*p) /2.
write(*,*) i,ene-e0
enddo
end

gbobodoobooooooboobboooboboboooobooobOoDn Fortorn90 O O
ooboocooboooboooboobooo

real(8)::dt,tf,p,q,e0,ene

integer::i,n

dt=0.1_8
t£=10._8
p=0._8
g=1._8
e0=1._8/2._8
n=int (tf/dt)

do i=1,n
qn=q+dt*p
pn=-dt*q+(1._8-dt*dt)*p
qQ=qn
p=pn
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ene=(q*q+p*p)/2._8
print*,i,ene-e0
enddo
end

cooo

#include<stdio.h>

main(){
double dt,tf,p,q,e0,ene,qn,pn;

int i,n;

dt=0.1;

q=1.0;
e0=1.0/2.0;
n=(int) (tf/dt);

for(i=1;i<=n;i++){
qn=q+dt*p;
pn=-dt*q+(1.0-dt*dt)*p;
qQ=qn; p=pn;
ene=(q*q+p*p)/2.0;
printf (" %3d %15.10f \n",i,ene-e0);

Euler 00 (4) 0000000000 dt*dt00000000000O0OOOOOOOOOOOO
O000000ooooOodl Ewler OO0OO0O0DOOOOOOOOO SymplecticOOOOO
goobooood

0100000 Runge-KuttaOO OO OOOOOOO0OOODOOOOOOCOOOOODOOOOO
gooooogd

2 Uooobogon

00000000000 0000000000000000000000000000000
000000000000000000000000. 0000000 T(p),00000000
000 V()DOO000O0 T,=a8T/dp,V,=0V/dg 000000

i=1,2,---,n000
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p(i) = p(i) — cpdtVy(i)
T,000

q(i) = q(i) + dpdiT (i)
V,000
0ooo

OOoooooobooooD 400000 00DO000DOO00OO00ObOODOO0OODOO 2000
g
01:1/2, 02:1/2, dlzl, d2:0

gopoopoooooo
c1 =w0/2, cg = w2, 3 =V, ¢4 =0g/2, di =y, dy = w1, d3 =wp, dy =0

gbooogo .

B TE
0000000 ()0 i000000000000.00000000000000000 f(i) =
_V,())000000000 6400000000000000000000000000000
Doooo

V0 v1 = —=2Y300, vy = (1 —2'3)0y/2

p(i)’
2

M=

H =

N
+ 3T+ 1)~ )+ L(ali+1) — i) + L ali + 1) - a(0)]
i=1 1=0

gooobooboobooooboooboos=12,---,n00000000O0O0ODOOODOOOOOO0OO
ugbbodoobugboobbuoooboouooood

47 x4

q(i) = sin( ), p(i) =0

n

gbog¢:=8000000000000000000O0ODOO0O0ODOOODODODOOODOOOOODOD
gooooobod

! 2nd order symplectic integrator for FPU problem
parameter (n=100,ms=2)
implicit real*8 (a-h,o0-z)
real*8 p(0:n+1),q(0:n+1),f(n)
realx*8 c(2),d(2)

open(12,file="fpu.d’)

c(1)=0.5d0
c(2)=0.5d0
d(1)=1.d0
d(2)=0.d0
pi=4.d0*datan(1.d0)
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“fpu.dat”
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dt=0.05d0
t=0

do i=0,n+1! initial condition
q(i)=dsin(4.d0*pi/dble(n)*dble(i))
p(i)=0.4d0
enddo
do i=1,n ! writing data
write(12,*) t,dble(i),q(i)
enddo
write(12,%)

nt=8000%15
time evolution

do it=1,nt
do k=1,ms-1
do i=1,n
p(1)=p(i)+c (k) *dt*f (i)
q(i)=q(i)+d (k) *dt*p(i)
enddo ! end of particle-#-loop
p(0)=p(n)
q(0)=q(n)
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p(n+1)=p(1)
q(n+1)=q(1)
! periodic boundary
call force(n,q,p,f)
enddo ! end of SI-stage-loop

do i=0,n
p(i)=p(i)+c(ms)*dt*f (i)
enddo ! end of particle-#-loop

t=t+dt

if (mod(it,400%15).eq.0) then ! writing data
do i=1,n
write(12,*) t,dble(i),q(i)
enddo
write(12,x*)
endif ! end of writing data

enddo ! end of time evolution

close(12)
end

subroutine force(n,q,p,f)
real*8 q(0:n+1),p(0:n+1),f(n)
real*8 fc2,fc3

fc2=-0.5d0
f£c3=0.254d0

do i=1,n
f(i)=q(i+1)+q(i-1)-2.d0*q(i)+fc2*((q(i+1)-q(i))*(q(i+1)-q(i))
& -(q(i-1)-q@1))*(q(i-1)-q(i)))
& +fc3*x((q(i+1)-q(i))* (q(i+1)-q(i))*(qi+1)-q(i))+
& (q(i-1)-q(i))*(q(i-1)-q(i))*(q(i-1)-q(i)))
enddo
end

Fortran90 O DO DO OOOODOO

integer,parameter: :n=100,ms=2
integer::i,it,k
real(8)::pi,dt,t

88



real(8)::p(0:n+1),q(0:n+1) ,f(n)
real(8)::c(2),d(2)

open(12,file="fpu.dat’)

c(1)=0.5_8 ; c(2)=0.5_8

d(1)=1._8 ; d(2)=0._8
pi=(4._8)*datan(1.0_8)
dt=0.05_8

t=0._8

do i=0,n+1 !initial condition
q(i)=dsin(4._8*pi/dble(n)*dble(i))
p(1)=0.0_8

enddo

do i=1,n ! writing data
write(12,*) t,dble(i),q(i)

enddo

write(12,%*)

nt=8000*15
l-—-time evolution---

do it=1,nt
do k=1,ms-1
do i=1,n
p()=p(i)+c(k)*dt*f (i)
q(i)=q(i)+d(k)*dt*p(i)
enddo ! end of particle-#-loop
p(0)=p(n)
q(0)=q(n)
p(n+1)=p(1)
q(n+1)=q(1)
!———-periodic boundary---
call force(n,q,p,f)
enddo ! end of SI-stage-loop

do i=0,n

p(1)=p(i)+c(ms)*dt*f (i)
enddo ! end of particle-#-loop
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t=t+dt

if (mod(it,400%15).eq.0) then ! writing data
do i=1,n
write(12,*) t,dble(i),q(i)
enddo
write(12,%*)

endif ! end of writing data
enddo ! end of time evolution

close(12)
end

subroutine force(n,q,p,f)
real(8)::q(0:n+1),p(0:n+1) ,f(n)
real(8)::fc2,fc3

fc2=-0.5_8
£c3=0.25_8

do i=1,n
f(i)=q(i+1)+q(i-1)-2._8*q(i)+fc2*((q(i+1)-q(i))*(q(i+1)-q(i))&
& -(q(i-1)-q@@))*(q(i-1)-qi)))&
& +fc3x((q(i+1)-q(i))* (q(i+1)-q(i))*(q(i+1)-q(i))+&
& (q(i-1)-q(i))*(q(i-1)-q(i))*(q(i-1)-q(i)))

enddo

end

cobooon

#include<stdio.h>
#include<math.h>
#define n 100
#define ms 2

void force(double [],double [1);
double p[n+2],q[n+2],f[n+1];

int main( ){

FILE =*fpu;

int i,it,k,nt;

90



double pi,dt,t;
double c[3],d[3];

fpu=fopen("fpuc.dat","w");

c[1]=0.5; c[2]=0.5 ;
d[1]=1.0; d[2]=0.0 ;
pi=M_PI;

dt=0.05; t=0.0;

for(i=0;i<=n+1;i++){//initial condition
ql[il=sin(4.0*pi/(double) (n)*(double) (i));
p[il=0.0;

}

for(i=1;i<=n;i++){//writing data

fprintf (fpu,” %f %d %f \n",t,i,qlil);
}
fprintf (fpu,” \n");

nt=8000%15;

//---time evolution---
for(it=1;it<=nt;it++){
for(k=1;k<=ms-1;k++){
for(i=1;i<=n;i++){
plil=pl[il+c[k]*dt*f[i];
qlil=q[il+d[k]*dt*p[i];
}//end of particle-#-loop

//-periodic boundary-
pl0l=p[n] ; q[0]=g[n] ;
pln+1]l=p[1]; qln+1]l=q[1];

force(q,f);
}//end of SI-stage-loop

for(i=0;i<=n;i++){
plil=pl[il+c[ms]*dt*f[i];
}//end of particle-#-loop

t=t+dt;

if (it%(400%15)==0){// writing data
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for(i=1;i<=n;i++){
fprintf (fpu," %f %d %f \n",t,i,qlil);
}
fprintf (fpu,"\n");
} //end of writing data

}//end of time evolution
fclose(fpu);
return O;

void force(double q[],double f[]){
double fc2,fc3;

int i;
fc2=-0.5; £c3=0.25;

for(i=1;i<=n;i++){
flil=q[i+1]+q[i-1]1-2.0%q[i]
+fc2x((qli+1]1-q[i])*(qli+1]-q[i])-(q[i-1]1-q[i])*(q[i-11-q[i]))
+fc3*((qli+1]1-q[i1)*(q[i+11-q[i]1)*(q[i+1]1-q[i])
+(qli-11-q[i1)*(q[i-11-q[i1)*(q[i-11-q[i]1));
}
}

U0 gbooobooobbooobooooboboobobbbooooobbobbobobooon
gboooooooogg
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